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e Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 28 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i)
(ii)
(iii)
(iv)
v)
(vi)

(vii)

All questions are compulsory.
Marks for each question are indicated against it.
Answers should be brief and to the point.

Questions no. 1 — 10 in Part A has Learning Checks (very short answer type)
questions carrying 1 mark each. You are required to answer them as directed.

Questions no. 11 — 16 in Part B are Very Short Answer type questions carrying
2 marks each. Answer to each question should not exceed 30 words.

Questions no. 17 — 20 in Part C are Short Answer Type I questions carrying
3 marks each. Answer to each question should not exceed 60 words.

Questions no. 21 — 26 in Part D are Short Answer Type Il questions carrying
4 marks each. Answer to each question should not exceed 100 words.

(viii) Questions no. 27 and 28 in Part E are Long Answer Type questions carrying 6

marks each. Answer to each question should not exceed 200 words.
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PART - A (1x10=10)
1. 37 3R IPH AqTfeTehId (T8TS) HETYA (ATHT) 1 ISTE0T 2 | 1
Learning of digits and multiplication tables is an example of processing.
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Pinky did not study for the test. After she failed the test, she complained that the test
was too difficult. She was using

(a) projection
(b) denial
(c) rationalization

(d) repression
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Vivek, a chain smoker, was able to stop smoking the day he decided to do so. Vivek
was high on

(a) Self-esteem

(b) Self-regulation

(c) Self-efficacy

(d)  Self-concept
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Scheduling one’s time would be an example of a coping strategy.
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Kusum suddenly loses her sight, but doctors can find no physical reason for the
problem. She is showing symptoms of

(a) Hypochondriasis

(b) Somatisation disorder
(c) Conversion disorder
(d) Pain disorder
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refers to the practice of focusing attention on breath or on an object or
‘mantra’.
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Beliefs refer to the behavioural component of attitudes. (True/False)
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Extreme cohesiveness may sometimes not be in a group’s interest and lead to the

phenomenon of
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The built environment usually involves the concept of
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is composed of all those messages that people exchange besides words.
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Identify the two main problems that self-report measures suffer from.
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Why is it important to exercise ? Give any two reasons.

qEIHId AT FETIfd H 37X 98 HIT |

Explain how empathy differs from sympathy.
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What is meant by culture of poverty ?
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Elaborate on Carl Jung’s typology of people.
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Explain public communication.

12)

Cn1



17.

18.

19.

20.

21.

22.

63

AT (3TTESH) & A&IuT <h) Tg=e shifse 3T 3-8 THeEsT |

T — T

PART -C

Identify and explain the symptoms of autism.
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Discuss the characteristics of the target that influence attitude change.

Explain actor — observer effect with the help of suitable examples.
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Suggest any three strategies for alleviation of poverty.
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What is mindfulness ? How does it influence our listening abilities ? Explain.

YT

OR

-9
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Explain the relationship between creativity and intelligence.

g ! TSR 1 THGIA 8 THLATAT 8 ? TehiaaTe] g o o= i T8 HIRT |

B x4=12)

(4 x 6=24)

How does Gardner’s theory explain intelligence ? Explain the concept of naturalistic

intelligence.

6
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[Mustrate with examples how the humanistic approach attempts to understand
personality.
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Discuss the most important sources of stress giving examples.
OR
What are life skills ? Explain any three important life skills that can help to meet the
challenges of life.
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Explain with examples the aversive conditioning and token economy techniques for
changing behaviour.
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While devising a programme to reduce prejudices in society, what goals should be
kept in mind ? Discuss.
-5
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What is dissociation ? Describe the different dissociative disorders.
OR

Is anxiety normal ? At what stage does it start becoming a disorder ? Describe any
two such disorders.
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Differentiate between in-group and out-group. Explain the different reasons why
people join groups.

OR

What is obedience ? Discuss the reasons why people obey even when their behaviour

may be harming others giving examples.

Cn1



